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1)
2)
3)

CZKm 4=3/2 5=3/1 8=7/6
Revenues 18,732 | 23,409 | 22,505 | -4% +20% | 49,040 | 63,952 | +30%
EBITDA 866 1,669 | 1,170 @ -30% | +35% | 2,159 | 4,191 | +94%
EBIT 5 802 238 -70% +47X -394 1,556 n/a
Net result attributable to
shareholders of the parent -35 520 175 -66% n/a -579 1,004 n/a
company
EPS (CzZK) D -0.19 2.87 0.97 -66% n/a -3.19 5.54 n/a
EBITDA margin ? 4.6% 7.1% 5.2% | +0.6pp | -1.9pp | 4.4% 6.6% | +2.2pp
EBIT margin 3 0.0% 3.4% 1.1% | +1.1pp | -2.3pp | -0.8% 2.4% | +3.2pp

Earnings per share = net profit attributable to shareholders of the parent company / number of issued shares
EBITDA margin = Operating profit before depreciation and amortisation / Revenues

EBIT margin = Operating profit / Revenues



